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(viii) &l J1aeqe &) Ww vT T By a8

Instructions-

(i)  All questions are compulsory.

(i) Questions Nos. 1 to 4 are objective type questions. Questions No. 1
and 3 carry 1x 8 = 8 marks and Questions No. 2 and 4 carry
1x7=7 marks.

(iii) Internal options are given in question nos. 5 to 22,

(iv) Marks of each question are indicated against it.

(v) Answer question nos. 5 to 16 in about 30 words each.

(vi) Answer question nos. 17 to 19 in about 75 words each.

(vii) Answer question nos. 20 to 22 in about 120 words each.
(viii) Draw neat and labelled diagram wherever required.
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Choose and write the correct alternative -
(1)

In which state of matter there is minimum space between the

particles?
(a) Solid (b) Liquid
(c) Gas (d) Water
(i) The property of minimum diffusion is found in -
(@) Solid (b) Liquid
(c) Gas (d) Oil
(ili) The burning of candie is -
(a) physical change only (b) chemical change only
(c) physiological change (d) None of these
(iv) The nucleus of an atom is -
(a) positive charged (b) . negative charged
(c) uncharged (d) None of these
(v) Discoverer of cell is -
(a) Robert Hook (b) Robert Brown
(¢) Linus (d) Swan
(vi} The rate of change in velocity of an object is called -
(a) impulse (b) speed
(c) acceleration (d) displacement
(vii) The S.I. unit of work is -
(a) Joule (b) Erg
(c) Watt (d) Newton
(viii) An object of mass m is moving with velocity v, its kinetic energy
will be -
(a) Vvemv (b) Ve(mv)?
(€) Yemv? (d) Yamiv

352 [923-05-8] Page 3 0f 8



() =1 e |
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Fill in the blanks - .

(1) MK IS @.eveueiiiece s sereer v et eserer e esnee s solution.
(i) Atomic Mass of CAMDON IS..........oveveeeeeeeeeeeeeeeeeee s ererese e csisaaseens
(i) The Neutron is diSCOVEIed DY............c.veeersimsesieiesarrsseesss
(iv) The brain of cellis Called...........coeevveeeeeeereceererceneeeasssesesseseesane s
(v) Velocity in a definite direction is called..............ccccoeverereveeiaierecenns
(vi) Action and reaction force wWork in..........ccocecevevcrnmrecverennns direction.
(Vi) WOTK = FOTCE X ..ot eat e eatasensas st sanenensen
u3  fr=foRea Sfeat &1 98 fiam & fRifae -
CAGLET CIGLERCH

(i) O B TS (@) eng:

(i) a=gar (@) eeTETdr Sl

(i)  smarTEr Rerid (M g™

(iv) EEEE (=) 6.022x102

(v) ST &1 B9 (8 100°C.

(vi) <D (@) YoM ?

(vii) FEHATA (@) ehforind

(viii) T () wh
Write the correct match of the following -

Column ‘A’ Column ‘B’

()  Boiling point of water (@) Metal

(i)  Ductile (b) Suicide bags

(i)  Avogadro constant (c) Xylem

(iv) Lysosome (d) 6.022x10%

(v) Flow of water (€) 100°C

(vi) Telescope (fy Earthworm

(vii) Kadaknath - (g) Galileo

(viii) Vermicompost (h) Cock
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(1) Uewt e srawen ¥ urar s £2

(i) IUPAC &1 w1 71w farfau |

(ili) IR P Hareear faRa

(iv) RN S @1 v e e |

(v) T W98 3 A Sas @ AW faRag |

(vi) WHRS et fradid ‘g q fey |,
(vil) W e @ s W faa |

Write the answer of the following in one sentence -
(i) How many states of matter are there?

(i) Write the full name of IUPAC.

(i) Write the valency of Boron.

(iv) Write one function of epithelium tissue.

(v) Write the name of tissue that stores fat.

(vi) Write the value of Universal Gravitational Constant 9.

(vii) Write the audible range of sound for normal human being.

™ I 7§ Fer A e 7t awar 27
Why does cooler cool more in hot dry day?

dirar/OR
orEl @1 e g4l § fawer @ v il qat e @0
Why the rate of diffusion is more in liquids than in solids?
arft fisor @ ofeTeT ISR S forfag |
Write the definition of homogeneous mixture with example.
| Fuar/OR
fawmft fsror &) afwrer IeR Saw forRan
Write the definition of heterogeneous mixture with example.
e uRadd & $ig a1 Sarerr folay |
Write any two examples of chemical changes.
3rar/0OR
Hiargs faaa @ 3 U fafau |

Write two properties of the colloidal solution.

(1x7=7)

@)

)
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RERGIE & THIY] Hiee @t &l i e |
Write any two drawbacks of Rutherford’s Atomic Model.
ey / OR
IR B G| Higel @) auwon o |
Write the concept of Bohr's Atomic Model.
aenfyal & @1 & suan fafag
Write any two applications of Isotopes.
3rerar/OR
aRenfYe vd GHERe ¥ B QiR faRag |
Write any two differences between Isotopes and |sobars.
TTgel U4 FoAIgH H HE Q7 i fafau |
Write any two differences between xylem and phloem.
3erar/ OR
geud Uo & a9y & fafae ) (@9 )
Write the specific functions of cardiac muscles. (Any two)
et SIfdrer & Amifea =& q915y
Draw a labelled diagram of Neuron.
a1/ OR
Mg g @1 AmItha &7 g9 EU|
Draw a labelled diagram of striated muscles.
o8 vd favema ¥ s faRag | (@1 <)
Write the differences between distance and displacement. (Any two)
et/ OR
Mg ofigq <1 SETERV 0 §U R Bl GRHITNT BT |
Define the motion by giving two examples in daily life.
Rpehl e @ wrar @1 Al ¥ e W §9 uRil we ol 8 ot
Explain, why some of the leaves may get detached from a tree if we
vigorously shake its branch?
yerar/ OR
e &1 i |ael B faam ferfan |
Write Newton's Second Law of Motion.

gt
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LRV %Hﬁwﬁgﬂfmaﬂvﬁmmmg?
Why does 3 rolling ball in the ground stop by itself?
- yuar/OR
AN 79 7 srgfe aw o fona
Define the balanced force and unbalanced force.

W35 O B Ay forfay |
Write the Universal Law of Gravitation.
| Jyar/OR
- SO A MR A SR farfan | (@1 @)
Write the ditferences between mass and weight. (Any two)
416 AR 1 Rigm forfRau |

Write the Principle of Archimedes.

Jyar/OR .
ﬁﬂﬂa@ﬁmmmgﬁﬂmmmaﬁéwwm%?
Why the weight of an object on the moon is =" of its weight on earth?

417 W IR &1 AHIfda fas q4gV | https://www.mpboardonline.com
Draw labelled diagram of animal cell.

suar/OR

Uy PIRET & Fmifea R awg )
Draw a labelled diagram of plant cell.

518 e f&f R & ga@mE 1500 kg B @ SHS T B 30 kmh! Q
60 kmh! @& g & fFa1 B HA weM? |
What is the work to be done to increase the velocity of a car from
30 kmh'' to 60 kmh'', if the mass of the car is 1500 kg?

A /OR
. 5 o & o Sat @ ford awie fofm
Write an expression for the kinetic energy of an object.
W19 SfeRTEEeERY & o fafan | @18 &)

Write the advantages of intercropping. (Any three)
Jerar/OR
AU B S53vy faRag | (BIE )

Write the purpose of animal husbandry. (Any three)

@

(3)
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20 frfofen dfe & Aer gemm w1 R AR - @)

(31) HCI (@) HNO;
(|) HNO: @) CO:2
Calculate the molar mass of the following compounds -
(@) HC (b) HNOs;
(c) HNO: (d) COs
g/ OR
Fefefaa 2t & mafye 9w fifee —
(a1) CaCl, (@) K2SOs
(|) NaCl (8) NaNO;
Write the chemical name of the following compounds -
(@) CaClz (b) Ka2SQs
(¢) NaCl (d) NaNOs
H21 SN 90 AR T arema F vl B | 97 UH AR ¥ T RN a9 wRa W )

9 W I 7 T e e ]| 3w <R a8 180 Aex B g 1 e §

T T 8| S B MG A 3R ST T BT S RN |

Usha swims in a 80 m long pool. She covers 180 m in one minute by

swimming from one end to the other and back along the same straight

path. Find the average speed and average velocity of Usha.
sierar/OR

T& a6 3I T 5 Ahs 80 fhariier ufd w2 & veax 60 framiey ofy

°TT B W 8| 99 &7 @R A B |

A bus decreases its speed from 80 kmh™' to 60 kmh' in 5 sec. Find the
acceleration of the bus.

y22 WA @ W fafew | @ =) )
Write applications of ultrasound. (Any four)
Jyar/0OR
UF A7 fHel WS TgH & U drell g @ Wi Iwa nhrafy 2 gove
@ uwarq g ol 81 @y @ Ay 346 ms! S A wem e
79 & 49 &1 g0 fda gnfi?
A person clapped his hand near a cliff and heard the echo after 2 sec.

What is the distance of the cliff from the person, if the speed of the
sound v is taken as 346 ms'?
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